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No Solution and Marks Scheme Sub Total
Marks Marks
1. 1 3 3
4
X=3-3x-2 B2
33(-%) Bl
2 2950 3 3
%(100 +195) B2
a=100 Bl
3 a=21 3 3
Zx +a+a-=6
5 =27 B2
180 B1
4 h=1 1 3
k=16 1
5 k=2 2 2
%|(k—8—4k)—(4—k—8k)|=0 B1
6 1 (12 2 2
13( 5
Bl
122 +5°?
7 ~3x+Yy 3 3
%(—2)_(—32/—4>_(+53_/) B2
. Bl
Lk + kn)
2
8 p=100 and q=15 3 3
p=100 or q=15 B2
Bl

p+7q=205 or %[Zp +11q]= 2190



Pascal
Typewritten Text

Pascal
Typewritten Text

Pascal
Typewritten Text


No Solution and Marks Scheme Sub Total
Marks | Marks
9 h =16 and k = 32 3 3
r=2 B2
a=8orT,=64 Bl
10 [a) y=10b" 3 4
y
log, bt =1 B2
log,, b* or log,, y—log,,b' =1 a1
b) b=2 1
11 3
=2 3
5
8+[10k(4)—-10(k )(2)] = 24 B2
. B1
8+ [10kx]; = 24
12 | 58.8091 4 4
1177 x125 1, (15 +12)(9.0234) 3
2 or 2
%xl?z ><1.25—%><(15+12)(9.0234) B2
tan7161= "= B1
3
13 |32 4 4
42(2) B3
r=4,h=2 B2
, B1
12r -3r° =0
14 (@) 0.175 2 4
427 =87(3)x % or equivalent Bl
(b) 637 2
47(3)° x0.175 Bl
15 1 4
a -1—
@ 119 2




No Solution and Marks Scheme Sub Total
Marks Marks
A5
12
Bl
1- 5]
12
5 5
(b) == 2
26 \/%
+1
2l L B1
2 2
16 | 99.74° |, 170.27°, 279.74° , 350.27° 3 3
sin2x=-= B2
2sin xcosx=—% Bl
17 3 3
A(-2,0) and B(o,—éj
2
A(-2,0) or B(O,—gj B2
» 1., 2
y ==3% "3 B1
18 | x2+y® —6y—-9x+26=0 3 3
y—-4\(y-2 i
~—— || =—— |=-1 or equivalent
[x—GJ[x—B) q B2
y—4 y-2
= and m=-"——
X—6 X—3 B1
19 | (@) 360 2 4
'Px*P,x°P, Bl
b 72 le
P x*P,x'P,x°P
1 2 1 3
20 11 2 4
@ —
105
122 11
36 35 Bl
27
b £t
(b) -0 2

27 9+9 27
36 35 36 35

Bl




21 [5 3
a=-1,b=15 B2
8a+b=7 or 2a+h=13 Bl

22 | p=10, p=-6 3
a=2, a=-6 B2
20 +4=—(2-p) and afa +4)=12 B1

23 [ (@) 3244 2

X - 27
o4~ 085 B1
(b) 0.8023 1

24 {0.9295 3
1-°C,(0.6)°-°C,(0.4)(0.6)° B2
°C,(0.6)° or °C,(0.4)(0.6)° B1

25 [ (@ 9 1
() 2 2

1(3)+ 2(7) + 3(10) + 4x + 5(6) 3
~ B1

3+7+10+Xx+6
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